mrq (GeV) Signal Z/v*+ets tt+jets \A% Other bkg. All bkg. (stat + syst) Data

200 531700 4700 2973 +£7 5467 =56 369 + 2 519 £ 10 9328 £+ 57 £ 444 9317
250 232900 +£ 1800 1675+5 2972 £ 41 241 £2 324 £8 5213 £ 42 £ 250 5102

300 100460 £760  793+3 1298 +£26 138+ 1 189 £ 6 2419 £27 £ 117 2360
350 46160 £340 3878 +2  538+16 8L.0+1.0 98.0+4.1 1105 +£17£57 1113
400 22610 £160  202+1 237410 519408 552+3.1 546 + 11 + 29 572
450 12039 + 86 13241 1214+7 322407 31.8+23 316 + 78 + 18 299
500 6672 +48  79.0+07 541446 209+05 202+19 174 +£5+11 147
550 3848 £27  520+05 261+£30 144+05 131+15 106 £3 £ 8 78
600 2328 +16  347+04 129419 100+£03 944+127 67.0+24+52 44
650 1461 +10  260+£03 9.90+1.80 655+030 670+110  49.0+£21+39 26
700 948 + 7 182403 468+1.07 436+024 453+091 320+14+26 16
750 630 + 4 124402 3474093 3.17+020 3.04+074 220+12+19 11
800 424 +3 9.18 £0.16 2.62+0.83 2454019 226+£063 165+1.1+16 8
850 293 +2 693+0.13 3.89+123 1.88+£0.17 205+060 148+14+11 7
900 206 + 1 555+0.11 234+088 1444015 149+£050  10.8+1.0+09 6
950 147 £1 4414010 022+013 1314015 1.11+£043 7.04+048+071 5
1000 1039 +07  3.66+009 072+042 1.10+0.13 073+033 621+056+059 4
1050 750+05  3234+009 047+033 093+0.12 060+031 524+048+056 4
1100 549+£03  2714+0.07 0.60+043 0.69+£0.10 0.60+031 4.60+054+048 3
1150 40.3+£02  239+007 004+004 069010 041+£025 353+028+042 3
1200 297+02  1.86+006 019+£019 0.63+010 041+025 310+033+042 3
1250 222401  1.68+006 0224022 056+010 020+0.19 265+031+034 2
1300 1644+01  113£004 030+030 053+010 0124019 215+037+027 2
1350 123+£01  126+005 046+046 053+0.10 020+019 245+051+024 2
1400 924+005 1.14+004 054+054 054+011 0.19 )35 241 1082 +0.24 2
1450 690 +£0.04 1.06+004 058+058 050011 0.19 738 2.32 1065 +0.22 2
1500 524+£003 1.05+005 059+059 047+011 0.19 ") 2.30 %8 +0.23 2
1550 399+£002 1.05+£005 059+059 047+£011 0.19 792 2.30 0% £ 0.23 2
1600 3.06£0.02 1.05+£005 059+059 047+£011 0.19 792 2.30 0% £+ 0.23 2
1650 235+001 1.05+005 059+059 047+0.11 0.19 )35 2.30 £9%8 +0.23 2
1700 179+£001 1.05+0.05 059=+059 047+0.11 0.19 )35 2.30 088 +0.23 2
1750 1.38+£001 1.05+0.05 059+059 047+£011 0.19 35 2.30 0% +0.23 2
1800 1.07£001 1.05+0.05 059+059 047+£0.11 0.19 735 2.30 0% £ 0.23 2
1850 0.821 +£0.004 1054005 0.59=+059 047+0.11 0.19 )% 2.30 1968 +0.23 2
1900 0.636 £0.003 1.05+0.05 0.59=+059 047+0.11 0.19 % 2.30 0% £+ 0.23 2
1950 0491 +£0.003 1.05+0.05 059+059 047+011 0.19 ) 2.30 106 +0.23 2
2000 0377 £0.002 1.05+£0.05 059+059 047+011 0.19 ") 2.30 0% +0.23 2




